=50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN |

U"Wfax. Marks: 80

Time: 3 hrs. ,
“Note: Answer any FIVE full questions, chooﬂmg
ONE full question from each module\
1 a. Solve
(05 Marks)
b. Sol (05 Marks)
c. Solve (06 Marks)
2 a. (05 Marks)
b. Solve (05 Marks)
c. Solve . (06 Marks)
Module-2
3dy dy
3 a. Solve x” —+3% +xd—+y:x+logx. (05 Marks)
: X
b. (05 Marks)
(o (06 Marks)

Solve (2x +5)2y" —6(2x +5)y’ +8y = 6X.. (05 Marks)
b. Solve y=2px+y p3 : (05 Marks)
c. Solve the equation : (px — y)(py +X) = azp by reducing into Clairaut’s form, taking the

substitution X = x2, Y= y2 . (06 Marks)
1of3
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function given
(05 Marks)

(05 Marks)

(06 Marks)

(05 Marks)

b.

(05 Marks)

2 2
c. a—;: g B by the method of

ot ox?
(06 Marks)
a. (05 Marks)
b. Z—z— =1 by double integratio = (05 Marks)

b

Derive the relati{o‘ﬁ’a«béﬁs}veen beta and gamma function as  (m, n) = (06 Marks)

OR

- (05 Marks)

j\/ sin® d0 by using Beta-Gamma functions. (06 Marks)

20f3
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Module-5

N\ cos2t—cos3t :
aplace transform of te?! + — +tsint.

(05 Marks)

s
™

n—t, O<t<m . . TN
in terms of unit step fuinction and hence find

sin t, t>n

1£@mmnfa)={

A

(05 Marks)

:,12tze_3t subject to the conditions, y({ = y'(0) by using Laplace

transform. ' (06 Marks)

OR
Find he inverse Laplace for 275—+4 (05 Marks)
45" +4s+9 ¥V \V,

Find the Laplace transform of the-full wave recuﬁe\f f(t) = E sin ot, 0 <t < m/w having
period m/w. ' ‘ (05 Marks)

Obtain the inverse Laplace transform /of t function by using convolution

(s=1)(s2 +1)

theorem. (06 Marks)

30f3



